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1] 150 110 30
[3] 2- 100 60 60
7] 0.92 0.14 017
[8] 4- 2 nd 0.55 32
[11] & ~( )-@ (
1 15 (

- s 320 43 43
[11-1]  ( = nd 34 34
2] ( = 9.1 0.4 0.4
[11-3]  ( = 8.5 05 8.1
[11-4] ( = 19 0.8 1.9
[11-5] ( = 26 06 0.6
[11-6] ( = 35 06 18
[11-7] ( = 39 0.8 28
[11-8] ( = 37 0.8 1.2
EI = 39 1.0 16
[11-10] _ ( = 34 05 24
[11-11] ( )= 28 0.5 0.9
[11-12] ( = 24 06 14
[11-13] ( = 13 0.7 11
[11-14] ( )= 8.6 0.9 17
[11-15] ( )= 6.5 0.6 2.7
3] (2.266- - ) nd 49 49
[16] ( )=

L 10 8.7 1.7 1.7
161 ( = 16 053 053
[16-2] ( = 0.49 0.14 0.14
[163] ( = 0.27 0.11 0.11
[16-4] ( = 0.28 0.16 0.16
[16-5] ( = 0.70 017 017
[16-6] ( = 1.0 0.15 0.15
[16-7] ( = 12 0.10 0.10
[16-8] ( = 12 0.09 0.09
[169]  ( )= 11 0.12 0.12
[16-10]  ( = 0.79 0.08 0.08
[17] nd 84 84
( 1) nd
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